Math 121 - Test 1 Sep 29 2011

Question 1:

(a)[3 points] Let f(x) = i—ixi and g(x) = v/x. Determine, simplify, and find the domain of (f o g)(x) .
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(b)[3 points] Let H(x) = /2 + |x| and g(x) = 2+x. Find functions f and h so that H = f o g o h. (There
are several possible correct answers.)

W(x)= (x| ,
g0 =

FC/M: ;Sl(j(ktm)>: &(3(m>)
= ;F(z+l>cl>
= Vzved /_J

f(a+ h) — f(a)
-

Fladd) - £) 1 ( _ }
| he k{:@uk}?‘, ar

1 1 O\L- (o\-(-LQL
W L (od-k)z'opl

C Lod-lE "\

S
oL (aw\m)z' ot

(c)[4 points] Let f(x) = ;(13 Evaluate and simplify
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Question 2:
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Question 3:
(a)[5 points] Evaluate: Li_’rrb —2—5—3% ~ '12_ N
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Question 4:

(a)[3 points] If 2x < g(x) < x* — x4+ 2 for every x, evaluate Iim1 g(x). Be sure to state any theorems you
x—
use (the Squeeze Theorem, for example), and the conditions that are satisfied which justify use of the

theorem.
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(b)[3 points] Evaluate: lim cos (x)
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Question b:
(a)[5 points] Use the Intermediate Value Theorem to show that the equation

cosx =3 — 2x
has at least one real root on the interval {0, 7].
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